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C. Network Sensor 
D. Alarm Tool 

Answer: D 

QUESTION: 38 
The Enable follow on signature check box 

A. Enables dynamic packet collection 
B.   Enables combination signatures 
C.   Enables macro signatures 
D. Applies signature to dynamically collected traffic 

Answer: D 

QUESTION: 39 
Before the host Sensor can be deployed AIt must be associated with a virtual 
sensor 

A. It must be associated with a host policy 
B.   Its key must be added to the /usr/dragon/bin directory 
C.   Its address must be added to /etc/hosts 

Answer: A 

QUESTION: 40 
MD5 checksums are 

A. Stored in a protected directory on the host 
B.   Appended to the protected file 
C. Passed up the event channel to the MD5 Agent 
D. Stored in the /usr/dragon/bin directory on the Enterprise Management Server
(EMS) 

Answer: C 

QUESTION: 41 
Thresholds can be set to 

A. Reduce false positives 
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B.   Turn alarming on and off 
C.   Limit the number of events seen by Alarm Tool 
D. Limit the number of sensors sending events 

Answer: A 

QUESTION: 42 

The default event channel port is?
 

A. 9111 
B.  9112 
C. 9113 
D. 9114 

Answer: B 

QUESTION: 43 

Virtual Sensors can segregate traffic by?
 

A. IP Address, VLAN, Port 
B.   IP Address, VLAN, Port, Protocol 
C.   IP Address, VLAN, Port, Protocol, Application 
D. IP Address, VLAN, Port, Application 

Answer: B 

QUESTION: 44 
Right-clicking on an IP address within a Data Mine provides a menu with all 
but the following option? 

A. Nessus Scan 
B.  DNS Lookup 
C. Asset Profile 
D.   Port Scan 

Answer: A 

QUESTION: 45 
Master Network Libraries 
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A. Cannot be directly associated with sensors 
B.   Cannot be directly associated with virtual sensors 
C. Can be directly associated with virtual sensors 
D. Can be modified 

Answer: C 
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